& N

e =
= T

PRACGTICE SET-4

ive 03:00 PM »



Join my
TELEGRAM GROUP

&) @reasoningbymohitsir

Daily PDF of all YT sessions
Discussion / Doubt Solving
Direct Interaction with me
Quiz
@ Polls



Q.1 If "+" denotes "divided by", "x" denotes "added
to", "=" denotes "subtracted from" and "-" denotes
"multiplied by", then
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Q.2 Find the answer figure in which the question
figure is embedded.
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Question figure-




Q.3From the answer figures, find out the figure which

Is the exact image of the question figure, when the
mirror is placed on the line ‘MN' :
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Question figure:




Q.4 From the given answer figure, select the one in
which the question figure is hidden/embedded.

< TS S AMHQAT | | 9 \mw@%?ﬁﬁﬁtﬁmﬁ
T P iR g




Q.5 Which answer figure will complete the pattern in
the question figure?
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Q.6 If 'A + B' means 'A is father of B', 'A - B' means 'A is mother of B', 'A *
B' means 'A is brother of B' and 'A % B' means 'A is sister of B', then how
QisrelatedtoSin'P+Q*R-S’?

IR'A+B' AT 'A, Berfaar g, 'A-B' T d 'A, B arar &', 'A * B' &7
STT'A, BFTHATS & TAT'A % B' FT 1 'A, BRI I8 &,

A'P+Q*R-8'HAQ, S g TR gafaa g?

A) afd/ Husband B) &1/ Uncle
C) wt</ Brother D) faat/ Father
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Q.7 Find the analogous figure from the given
alternatives
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Question Figure:

Answer Figures:




Q.8 In a certain code language, “MATERIAL” is written
as “‘RIALMATE". How is “TREMEMBER” written in that
code language?

T fAfa g2 wmwr 7, “MATERIAL” &t “RIALMATE” &
&7 # for@r STar g, a‘@ﬁ?@wﬁ“REMEMB
YT for@T STae?

(a) REMEREBM (b) MBEREMER
(c) MBERREME (d) MBERREEM
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Q.9 If ‘P 3 Q" means ‘P is daughter of Q’, ‘P 5 Q" means ‘P is father of Q’, ‘P 7
Q’ means ‘P is mother of Q" and ‘P 9 Q" means ‘P is sister of Q’, then how is J
relatedto KinJ3L9N 3 O 5 K?

IR P3IQFMAT P, QH g, P5Q F 3t ‘P, QT fAar &, ‘P 7 Q wr e
‘P, QT AT g TP 9 Q w3 ‘P, Qi 98 &, A J, K& 6 T qeafeye g
A J3LIN3 O5K?

(a) Mother/ |Tat  (b) Wife/ Tt




Q.10 A man is facing towards the east. He turns towards north and walks for
5 km, and then turns 270 degrees anticlockwise and walks for 12 km more.
What is the minimum distance between his initial and final position?

T MEHT 7 Fit 3N T@ Flah 937 gl 98 AL I A q=dT g < 5 vt a werarn
3, 3T fT 270 =3t Timatimarsst gt § ¥ 12 FohHt =erar gl STehl T 3liT
sifaw Rufa & e =maw T w1 8?2

(@) 17 km (b) 13 km
(c) 11 km (d) 9 km




Q.11 In the following question, select the odd letter pair
from the given alternatives.

fReferfed o1 #, Ry = fasheqt | | faww oo =1 #31

(@)BN-P (b)GI-R
CLM-Y (d)TA-U




Q.12 In the given figure, how many white apples
are there?

R R ¥ Ay ek AT & 2 T 50T)

(@)37  (b)73
()36  (d) 88



Q13 In the following figure, square represents athletes, triangle represents
engineers, circle represents fathers and rectangle represents entrepreneurs.
Which set of letters represent athletes who are either entrepreneurs or fathers?

Aaferfeaa srafa @, a1 waeiie w1 yfafRfec Fxar g, e SR s sfafRfaa
FLAT §, Thel 1aaT 3T AT SATHAT T T TA AT AT g A F DI 9T 4 TIAIS
T Sfaferca Fwxar g St av ar seHt av farg?

(a) F,E,D (b) D,E,F,G,H,]
(c)GH,| (d)E,H




Q.14 Directions: Select the correct option for letters
coming to the empty space in the given series-

e = < TR ST gEer § R S 9% e ATl
ib-sdb-sdjp-dj-sd N
_bp

A)ppsbj B)pspbj
C)sdjpp D)bpsbj
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Q.15 Which of the answer figure is exactly the mirror
image of the given question figure, when the mirror

placed on the line AB ?
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Q.16 In a row of cars, red car is 14th from left and
23rd from right. How many cars are there in the
row?




Q.17 What number will come in place of questlon

mark? ( {205 ))

SECCIRED |ﬂr§%WWﬁﬁ?FﬁH@TS@1ﬁ’? =
A)56 B)43
C)73 D)47



Q.18 Arrange the given words in the sequence in
which they occur in the dictionary.

T T STST FT ASITAAT & SATATE AR

1. Nature
2. National
3. Nurture
4. Nice

5. Niggle

(@) 21435  (b) 12435
(c) 12453  (d) 21453
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Q.19 Two position of a cube are shown below.
What will come opposite to face containing ‘B’?
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Q.20 What shape will it look like when folding, punching
and opening a paper’?
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Q.21 How often will the clock needle
parallel in one day?

e e & o Y o Pl AR

A)22 B)25
C)24 D)30
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Q.22 Find out from the given alternate answers that
can not be created only by the use of the letters of the
word- ORGANIZATION-

T T dfcus® STU § 9 ST AT &l ATT ST ST FadA
sTsc ORGANIZATION % 3T&Tl & TIRT §IRT A&l

®

A) GOAT  B)NOT
C)RAT D) GUN




Q.23 What is the total number of triangles in the
given figure?
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A)10 B) 11
C)12 D)13



Q. 24 6 people are sitting in a row. A is sitting towards immediate left of B and
immediate right of C. C is sitting to immediate right of F. D is immediate right of E
who is to the left of F, then which two people are sitting in the center?

6 FIRT T Gixe § o5 g1 A, B % TchIol dTU S o437 g 3T C % qohld 16 A 47128, C, F
% LA <18 AR 93T 81l D, E F 31k I 43T g, STt F o 918 3T §, a¥ %% | i ¥ & Afw
45 87?

(a) D and B/ D 3T B (b) A and B/ A 3B
(c)Fand C/F3fikC (d)Eand D/E XD
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